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B-110 : Organisation of Commerce & Management

Instructions: Select correct alternative for the following guestions.

L

7.

Dairy industry, bakery industry, cold drink industry, making cloths are examples of

which type of industry?

(A) Primary Industry
(C) Tertiary Industry

{B) Secendary Industry
{D) Labour Industry

In which kind of account, bank gets maximum deposits?

{A)} Current Account
{C} Saving Account

{B) Recurring Account

One type of currency which exist only in cyber space?

{A) cOD

{C} Net Banking Transfer

{B} Cheque
(D} Digital cash

Which is an important provision in memeorandum of association?

{A) Registered office clause
{C) objective clause

(B} name clause
{D) liability clause

In Government Company the shares are taken in favour of 7

{A) President
{C} Finance Minister

{B} Prime Minister
{D} Governor

[Max. Marks : 50

{D} Fixed Deposit Account

A market is arranged in Ahmedabad at Tilakbag is an example of which type of shop?

{A) Hawkers
{C) Temporary traders

{(B) Fixed day Traders
D} Street Seller

[

Give full form of OGL.

{A) Open General Label
{C) Open General Liability

Management thoughts are the outcome of .....

{A) Researches (B} Experience

{C) Technigues (D) Principles

Which principal state that, Employees cannot follow orders from more t
superior?

{A) Division of labour
{C) Imitiative

{B} Unity of Command
{D) Order

near organization the power is given to,

In lin
{A) Departmental officers
{C}) Supervisor

{B) Top Management
(D) Experts

internal feeling which encourages person to work is ...

Ly

L
ig
(S

] Motivation
€} Communication (D} Management

(B) Direction
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{B} Open General Language
(D} Open General Licence
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infermation is gathered by personal observation, oral reports ang writien reports is
known as?

{A] Controlling (B} Planning

{C) Gathering Information (D} Setting standard
Notice money is given for how many days?

{(A)3to 29 (B) 2to 12

{C} 41010 (D} Z2to 14

When manufacturer sales product directly to the customer, what can be said about the
levels in distribution channel?

{A} One {B) Zero

C) Two {D) Three

At present, which act is prevalent for foreign exchange in India?
{A} FERA {B) FECA

{C) FEMA (D} FESA

Which of the foliowing industries make natural rescurces through machinery and
technology more proper to consume?

{A) Primary Industry {B} Secondary Industry

{C) Large Industry (D} Tertiary Industry

From the concept of time motive of wealth creation should be of......

{A} Shortterm (B} Medium period {C} Uncertain term (D} Long term
In which of the following circumstances godown is not required to store goods?

{A} Seasonal Demand (B} Customised production

{C} Perishable goods {D} Raw-material is seasgnal

Settlement of RTGS transaction are done by reserve bank at how many hours 7

{A} Every Hour (B} Every three hours

{C} Every two hours (D} Every four hours

What is CORE in core banking?
{A) Current operate real exchange {B) Centralised Online Real-time Exchange
{C} Code Oriented Rupee Exchange {D) Convert OR Exchange

In which type of facility the purchase & sale through auction is avail without
middleman?

{A} B2B (B} CzB {C) B2C (D) czC

How much capital a nominal partner {partner for name) brings in a partnership firm?
{A) Equal Capital (B) Least

{C} Highest {D} Does not bring capital

Which is the main advantage of a registered firm?
{A} Can be advertise in a newspapers

(B) Legal procedure for debt recovery is possible
{C) Reliefin taxes

{D} Deposits can be acceptsd

The representative elected by the shareholder of the company is called?
{A) Manager (B} Secretary (C) Director (D} Chairman

Page 2 of 4
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Within how many days of issuing prospectus, the amount of minimum subscription
should be obtained?

{A) 30 days (B) 15 days {(C) 21 days (D) 90 days

Which of the fellowing is adopted by the government of India in industrial pelicy of
19917

(A} More importance to public sector (B} More autonomy to private sector
{(C} More importance to railway (D) More autonomy to joint enterprise
What is the motive of public private partnership?

(A) To create primary infrastructure (B} Quality services

(C} Reasonable profit (D} For Import-Export

How long is the period of public deposit accepted by companies?

(A} 6 to 36 months {B} 3 to 24 Months

(€} 12 to 48 Months (D} 2 to 28 Months

Which of the following things is not found in the franchise shop?

{A) Systems of doing business {B) Size of shop

{C) Decoration of shop (D} Quality of the product

What is the motive of presenting the certificate of the origin of goods?

{A) To getrelief in excise {B} To assure quality

{C} To prevent adulteration {D) To gain prestige

In how many levels the social responsibility of business is divided?

{A} Four {B} Five {C) Three (D} Six

Which function is not included in the classification of Management given by Dr. G.R,
Terry?

{A) Planning {B} Organising {C) Directing (D} Co-ordination
What is provided by the principle of management to the management t for making
decisions?

{A} Guideline (B} Important Base {C) Employee {D} Programmes
Which of the following parameters is not considered while assigning power?

A) Post of employee (B) Qualification-Experience

{C) Age & Religion of employee ém Art of leadership

At which level of management, tactical plan is formulated?

{A} Top Level (B} Middie Level {C) Bottorn Level (D) None of these
On which function Organization is based on?

(A} Production {B) Direction {C) Planring (D) Controlling
Which of the following is net included in the process of delegation of authority?

(A} R@sp@mgabmw (B} Authority

(C} Designation (D} Accountability

At which level of management development of programmes is taken place?

{A) Top and Bottam (B} Middle and Bottom

{C) Top and Middie (D} Only bottom level

Informal organisation Is based of.......
;;% Human Relation
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41.
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43.

44,

45,

46.

47.

49,

50.
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Which is not the fuaction of controlling?

{A) Progress of activities (B) Comparison with set standard
{C) Determining objectives {D) Getting information about deviation
For which expenses working capital management is required?

{A) Long term expenses (B} Contigency Expenses

(€} Expansion Expenses {D) Day-to-day expenses

At which rate dividend is paid on fully paid up shares?

{A) High Rate {E) Low Rate

{C) Fixed Rate (D) Market Rate

In India by whom stock exchange is regulated?

{A) Reserve Bank {B} SEBI

{C} Securities Contract Regulating Act {D) B And Cboth

What is the main objective of branding?

(A} Making the product more durable

(B} Manufacturing the product according o law

{{) Advertising the product

{D} Differentiating compauy’'s product from the competitors

Which thing should be consider for the storage of goods?

(A} Proper arrangement of goods {B) Preservation of quality
{C} Strong packing (D)} Lighting arrangement
What is the purpose of ‘SALE' for sales promotion?
{A} Reduce closing stock {B)} To earn more profit
{C} To attract customer {D} To gain prestige
Ahmedabad is connected with which consumer protection organization?
{4) CERC (B} CGSs1 {C) CcuUTs (D} CCC
Claim up to how much maxinum amount is settled by state level commission?
{A)} 50 Lakh {(B) 25 Lakh {C) 1 Crore (D} 70 Lakh
Which period has been the most important peried for the public sector?
(A} 1851 t0 1991 (B} 1947 t0 1955
{C} 1950 10 1961 (D) 199516 2001
After independence which sector was given importance in five year plan?
{A) Agriculiure sector {B} Private Sector
{C} publicsector (D]} Joint Venture
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